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%>
<p> <fp>
<p align=center><b>%5 =7} F&E</b></p>
<table border="0" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumber5">
<tr>
<td width="17%"> </td>
<td width="60%">
<table border="1" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumber6">
<ty>
<td  width="13%" align="center"><a  href=dars.asp?dars=<%=dars%>
target=_self>Fi]</a></td>
<td width="13%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=d
target=_self><img src=images/d.gif border=0></a></td>

<td width="14%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=r

e e 1 4 a3 A o~ Tor
N - QCL[L\VVILTT;H‘* £V 'dllg/ff'—- )6611?&:‘101/\%5'{[4%}5&*&11%.abl.l LUALDT S/ UTTUAI D 70T I P

target=_self><img Asrc;jmaggg/qigif border=0></a></td>

target=_self><img src=images/z.gif border=0></a></td>

- PPR P M AN N eldmattrn hanf—Anwn acn QA avo—el—Aanali> L havyn=c

<td width="14%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=x
[T . LS URIL USRIy SRR o I PRSVESY o BRUIRY PR 9 R

<td width="14%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=x
target=_self><img src=images/x.gif border=0></a></td>
<td width="15%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=f
target=_self><img src=images/f.gif border=0></a></td>
</tr>
</table>
</td>
<td width="23%"> </td>
</tr>
</table>
<% case 4
herp="k"
%>
<p> </p>

<p align=center><b>EIF#H  FH</b></p>












Al dgor vl A e mqj\:’lk{,\t,u"‘tralli a="KMS K& nhon &rnhon &nhon!

<hr>

4. TOHMITYLRT HLEDIDH ) 9 h</td>
</tr>
<tr>

<hr>

4. TOHMITYLRT HLEDIDH ) 9 h</td>
</tr>
<tr>

<td width="8%"></td>
<td width="92%" colspan="3">7 \ &nbsp;&nbsp;&nbsp;&nbsp;&nbsp; <input
type="radio" name="01" value="1">1&nbsp;&nbsp;

. PN S NN | S B | e a—=IOYTY AT a—"TOINNQ R hon  Brvnhon ' rnhon 't inniit

<input type="radio" name="01" value="4">4&nbsp;&nbsp;&nbsp;&nbsp;

W o B ST S TS SIS WP TS IO
<input type="radio" name="01" value="4">4&nbsp;&nbsp;&nbsp;&nbsp;
<input type="radio" name="01" value="5">5&nbsp;&nbsp;&nbsp;
& b </td>
</tr>
<ty>
<td width="100%" colspan="4">
<hr>
ZOHM ORI LR TR TS V</d>
</tr>
<tr>
<td width="8%"></td>
<td width="92%" colspan="3"><textarea rows="3" name="yahxiyaman"
cols="7T7"></textarea></td>
</ty>
<tr>
<td width="100%" colspan="4">
<hy>
COEMAEYRBTALERHLEB o720, WRMICDWTHR TL 23 W</td>
</tr>
<ty>
<td width="8%"></td>

<td width="92%" colspan="3"><textarea rows="3" name="pikir"






case "3"
kizikix(3)=kizikix(3)+1
case "4"
kizikix(4)=kizikix(4)+1
case "b"
kizikix(5)=kizikix(5)+1
end select
select case rst("salmak")
case "1"
salmak(1)=salmak(1)+1
case "2"
salmak(2)=salmak(2)+1
case "3"
salmak(3)=salmak(3)+1
case "4"
salmak(4)=salmak(4)+1
case "b"
salmak(5)=salmak(5)+1
end select
select case rst("asan")
case "1"
asan(l)=asan(1)+1
case "2"
asan(2)=asan(2)+1
case "3"
asan(3)=asan(3)+1
case "4"
asan(4)=asan(4)+1
case "b"
asan(5)=asan(p)+1
end select
select case rst("ozgartix")
case "1"
ozgartix(D=ozgartix(1)+1
case "2"

ozgartix(2)=ozgartix(2)+1









Set rst = Server.CreateObject("ADODB.recordset")
qry="select * from testl where ID="&sualid

Set rst2 = Server.CreateObject("ADODB.recordset")

qry2="select
testid=""&tid&""

rstz.open qrys,comfny, o T
if rst2.eof then
rst2.addnew
rst2("userid")=uid

%nv)_ﬂﬁ ~1:3
Yy &, COI11, 1,0

rstz e

if rst2.eof then
rst2.addnew
rst2("userid")=uid
rst2("qid")=sualid
rst2("testid")=tid
rst2("letter")=sual

* from allinfo where userid=""&uid&"

rst2("toghrisi")=rst("jawap"&trim(rst("toghrisi”))

rst2("correct=rst2("correct")+1
rst2.update

else

and qid=""&sualid&"'

and

conn.execute "update allinfo set correct=correct+1 where userid="'&uid&" and

qid=""&sualid&" and testid=""&tid &""

end if

else

rst2.open qry2,conn,1,3

if rst2.eof then
rst2.addnew
rst2("userid")=uid
rst2("qid")=sualid
rst2("testid")=tid

RN Y1) W)

SR ] ) VI
Y widehii=ys' angn=-center > = <70-=SdilldK &) 70~ LU~

o Std width="9%" align="center"> <%=salmak(5)%></td>

S, algns
rst2.update
else

conn.execute "update allinfo

set hata=hata+1 where

12

userid=""&uid &"

and



response.redirect "test.asp?uid="&uid&"&tid="& A& &SIA="CSTAT L

%>

dars.asp

response.redirect "test.asp?uid="&ud&"&tid="&nA& &SIA ST L

%>

dars.asp

<!-- #include file="global.asp" -->

<1-- #include file="html/header2 html" -->
<%

Dim letter(22)

Dim darslik(22)

Set rst = Server.CreateObject("ADODB‘recordset")
qry="select * from letters order by ID"

rst.open qry,conn,1,1
rst.movefirst

n=0

do while not rst.eof
letter(n)=rst("letter")
darslik(n)=rst("dars")
rst.move 1

n=n+1

loop

dars=request("dars")
select case dars

case 1
herp="a"

%>

<p>&nbsp;</p>

<p align=center><b>#i—ik HHEH</b></p>

<table border="0" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumberd">
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<tr>
<td width="17%"> </td>
<td width="60%">
<table border="1" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumber6">
<tr>
<td  width="16%" align="center"><a href=dars.asp?dars=<%=dars%>
target=_self>FiH</a></td>
<td width="16%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=a
target=_self><img sre=images/a.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=1
target=_self><img sre=images/i.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=u
target=_self><img srec=images/u.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=e
target=_self><img sre=images/e.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=0
target=_self><img sre=images/o.gif border=0></a></td>
<ftr>
</table>
<ftd>
<td width="23%"> </td>
</tr>
</table>
<% case 2
herp="b"
%>
<p>&nbsp;</p>
<p align=center><b># "k THEH</b></p>
<table border="0" cellpadding="0" cellspacing="0" style="border-collapse: collapse”
bordercolor="#111111" width="100%" id="AutoNumber5">
<tyr>
<td width="17%"> </td>
<td width="60%">
<table border="1" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumber6">
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<ty>
<td  width="13%" align="center"><a href=dars.asp?dars=<%=dars%>
target=_self>FiH</a></td>
<td width="13%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=b
target=_self><img sre=images/b.gif border=0></a></td>
<td width="14%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=p
target=_self><img sre=images/p.gif border=0></a></td>

<« width="14%" al %B—“C%le)i“><a href=dars. agp‘?dals—<A) =dars%>&harp=t

ASd Il rr-uars.a CEoraoT S

target= se1f><1mg sre=images/j.gif border= O></a></td>

Width="14%" angn= CeIter ~~a LTI~ Uaid.aop . coxs —

tarset= self><img src=images/j.gif border=0></a></td>

bordercolor="#111111" width="I10U%" 1d="AutoINWILLELIV ~
<ty>
target=_selt><img Sicmiides g g Boratcavi~alora our huafzdave aen?dave=<¥%=dars%>
<td width="15%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=h
target=_self><img sre=images/h.gif border=0></a></td>
</tr>

</table>

</td>

<td width="23%"> </td>

</tr>
</table>
<% case 3
herp="d"
%>
<p>&nbsp;</p>
<p align=center><b>%; =k FE</b></p>
<table border="0" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumber5">
<ty>

<td width="17%"> </td>

<td width="60%">

<table border="1" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumber6">

<tr>
<td  width="13%" align="center"><a href=dars.asp?dars=<%=dars%>

target=_self>FiH</a></td>
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<td width="13%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=d
target=_self><img sre=images/d.gif border=0></a></td>
<td width="14%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=r
target=_self><img sre=images/r.gif border=0></a></td>
<td width="14%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=z
target=_self><img sre=images/z.gif border=0></a></td>
<td width="14%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=s
target=_self><img sre=images/s.gif border=0></a></td>
<td width="14%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=x
target=_self><img sre=images/x.gif border=0></a></td>
<td width="15%" align="center"><a href:dars.asp?dars:<%:dars%>&harp:f
target=_self><img sre=images/f.gif border=0></a></td>
</tr>
</table>
</td>
<td width="23%"> </td>
</tr>
</table>
<% case 4
herp="k"
%>
<p>&nbsp;</p>
<p align=center><b>#HWPk T H</b></p>
<table border="0" cellpadding="0" cellspacing="0" style="border-collapse: collapse”
bordercolor="#111111" width="100%" id="AutoNumber5">
<tr>
<td width="17%"> </td>
<td width="60%">
<table border="1" cellpadding="0" cellspacing="0" style="border-collapse: collapse”
<td width="16%" =~ ~aign-= et P ~al Ty aaroscep aeone — - o
target=_self>FiH</a></td>
<td ~ width="[bw™ dngu— t‘,’elrlfcf"‘/‘"\"a‘"""—wnf\ﬁ“‘ldpemzsl%;dgrp:%}_&harn:k
target=_self>FiH</a></td>
<td width="16%" align="center'><a hredears.asp?dars=<%:dars%>&harp:k
target=_self><img sre=images/k.gif border=0></a></td>

<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=g
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target=_self><img sre=images/g.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=m
target=_self><img sre=images/m.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=n
target=_self><img sre=images/n.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=y
target=_self><img sre=images/y.gif border=0></a></td>
</tr>
</table>
</td>
<td width="23%"> </td>
</ty>
</table>
<% end select %>
<bhr>

<% harp=request("harp")

if harp="" then %>
<table border="1" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumber4" height="276">
<tr>
<td width="50%" height="276" valign="middle">
<p align="center"><FONT color="#6600CC"><b>DUN LD FE 7Y v 7§ 5 L\
@wstfyr%%za:é;ﬁffvszao
&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;&nbsp; &nbsp; &nbsp;<BR>@% O T2 H % & S,
e WOE L ED A= —Fffio TEA T E 8V, <br=@FICd b RHE T bIA L
TdHh b, &nbsp;&nbsp; &nbsp,&nbsp,&nbsp;&nbsp;</font></b></td>
<td width="50%" height="276" valign="top">
<p align="center"><b><FONT color="#FF9900"><br><br>#iH</b></p></font>
<p align="left"><FONT color="#6600CC"><b>&nbsp; 7 4 7 Vil 32 HD T V7T
SRy RSB, BEESMTER24METHL, ABMIZL T 22 BOXLTEFET 5
S Lt B </font><FONT color="#FF9900"> LT % & 5. HIF 5 </font><FONT
color="#6600CC"> X H 12T 2 DNHWTH %o </ont>
</b></td>
<[tr>

</table>
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<br>

<%

xu=0

n=0

do while xu=0

if Icase(letter(n))=herp then
xu=1

else

n=n+1

end if

loop

%>

<p align=center><a href=dars.asp?dars=<% if n<>0 and n<21
then %><%=darslik(n-1)%><% else v><%=darslik(n)%><% end if %>&harp=<% if n<>0
then %><%=lcase(letter(n-1)%><% end if %>><img src=images/previous.gif
border=0></a>&nbsp;&nbsp;&nbsp;&nbsp;&nbsp;<a href=dars.asp?dars=<% if n<>0
and n<21 then %><%=darslikln+D%><% else %><%=darslikm)%><% end
if  %>&harp=<% if n>0 and n<21 then %><%=lcase(letter(n+1))%><%
else %><%=lcase(letter(n) %><% end if %>><img src=images/next.gif
border=0></a></p>

<p align=center><a href:yezﬂixi.asp?dars=<%:dars%>&harp=<%=herp%>
target=_self>F & Ji</a>  <a href=okuluxi.asp?dars=<%=dars%>&harp=<%=herp%>
hrefemaxk aspPtid=inaxk<vo=darsyes facaaii=cnArarsn % ndapstixfbaro Tr=hernh>

<% else %>

ll

href=maxk.asp?tid=maxk<%=dars%> l&uars=<vo-adrs 702 vallgord- vl pe = andleape
<% else %>

bordercolor="#111111" WIATH="100% 10~ Auworvaiiors horgke T arg-lemnnoallonont

<ty>
L4 nr' (%nh ] n="
bordetcolors wiabA=" 0% Al SN e rcagary e —
<ty>

<td width="50%" height="276" valign="middle">

<p align="center"><img sre=images/qong<%=harp%>.gif></td>

<td width="50%" height="276" valign="top">

<p align="center"><br><b>3il </b></p>

<p align="left"><b>&nbsp;<img src=images/<%=harp%>.gif> ¥ <%=harp%> &t
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{p.... . </b></td>

</tr>
</table>

<br>

<%

xu=0

n=0

do while xu=0

if Icase(letter(n))=harp then
xu=1

else

n=n+1

end if

loop

%>

<p align=center><a href=dars.asp?dars=<% if n<>0 and n<21
then %><%=darslik(n-1)%><% else v ><%=darslik(n)%><% end if %>&harp=<% if n<>0
then %><%=lcase(letter(n-1)%><% end if  %>><img sre=images/previous.gif
border=0></a>&nbsp;&nbsp;&nbsp;&nbsp;&nbspi<a href=dars.asp?dars=<% if n>0
and n<21 then %><%=darslik(n+1)%><% else %><%=darslik(n)%><% end

if %>&harp=<%:lcase(letter(n+ 1))%>><img sre=images/next.gif border=0></a></p>

<p align=center><a hrefzyezilixi.asp?dars=<%:dars%>&harp:<%=harp %>
tavoat= colf> = X Mg </a>&nbsp;&nbsp; <a
</a>&nbsp;&nbsp; <a href=amili.asp?dars=</%=0ars7->CLarp—/0—naip /v~
Lo amrncdie T =5

</a>&nbsp;&nbsp;

target=_self> % 1 </a>&nbsp;&nbsp; <a

hremeaxk.asp?tid’—'maxk<%:dars%>l&dars:<%:dars%> target=_blank>#fi#¥ </a></p>
<% end if %>

<!-- #include file="html/footer.html" -->

firsttest.asp
<1-- #include file="html/header.html" -->

<%
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if request("step")="" then
%>
<p> </p><p align=center><font size=3><b>FifE 5= </b></font></p>
<p align=center>H i 13 H ARG & i ls - ETEE T </p>
<p align=center><a href:qekinix.asp?Sawap:1earned>N0</a>&nbsp;&nbsp;&nbsp;
<a href:ﬁrsttest.asp?uid=<%:request("uid")%>&step:2>Yes</a><br>
<%
else
if request("step")=2 then
%>
<p> <lp><p align=center>¥ /7 ITAHH/ hEEA L ED DD T KISTHITT A
FRITWETOT BT Ky LT RV, TAROERIZ3 05 TY, REIEILS
%k BB SN T T, <p>
<p align=center><a href:test.asp?uid:<%=request("uid")%>&tid:test 1> #i <
<fa></p>
<%
end if
end if
%>

<!-- #include file="html/footer.html" -->

login.asp
<!-- #finclude file="global.asp" -->
<1-- #include file="html/header.html" -->
<%
if request.form("submit")<>"" then
unamleequest.form("username")
pass=request.form("password")
Set rSZServer.CreateObject("Adodb.RecordSet")
rs.Open "Select * From user where username=""&uname&"",conn,1,3
if rs.cof then
response.write ”<p>&nbsp;</p><p>&nbsp§</p><p>&nbsp;</p><p align=center>%4 i
FEEVE Lz, ) —EAN LTS wp>"
response.write "<p align=center><a href='Javascript: onClick= history.go(- 1)'>Tif {2 =
% <la></p>"

else
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if rs("password")<>pass then
response.write "<p>&nbsp;</p><p>&nbsp;</p><p>&nbsp;</p><p align=center>/"
27— FHIEECE L, b —EANL TS »<p>"
response.write "<p align=center><a href='"Javascript: onClick= history.go(- D)">Tij 12
R A <la></p>"
else
response.cookies("uid")=rs("id")
if rs("status")<>"active" then
response.write "<p>&nbsp;</p><p>&nbsp;</p><p>&nbsp§</p><p align=center>
IS o F . Kb~ e, B OB R G D L h ) DR B AT oY NN 2
SMER DD BLBEDRD ) T4, ZO7=I, HiIET A b iwEd, b L. AREDY
LM EL D ZEDITEIT A, </p>"
response.write "<p align=center><a href=firsttest.asp?uid="&rs("ID")&"> [ =
</a>&nbsp;&nbsp;&nbsp;&nbsp; <a href:qekinix.asp?sawap:sinak>$I':ﬂ?%fi</a>"
conn.execute "Delete * from allinfo where userid="'&rs("ID")&""
else
response.cookies("uid")er("id")
response.redirect "dars.asp?dars=1"
end if
end if
end if
else
%>
<p>&nbsp;</p>
<p>&nbsp;</p>
<p>&nbsp;</p>
<p align=center><b>¥#f 12 A % </b></p>
<form method="POST" action="login.asp" name="form1">
<table border="0" width="100%" cellspacing="0" cellpadding="0">
<tr>
<td width="50%">
<p align:"right">%ﬁ])\7] </td>
<td width="50%"><input type="text" name="username" size="20"></td>
</tr>
<tr>

<td width="50%">
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<p align="right">/¥A 7 — FAT </td>
<td width="50%"><input type="password" name="password" size="20"></td>
</tr>

</table>

<p align="center"><input type="submit" value="3%/Z" name="submit"></p>
</form>
<%
end if
conn.close
%>

<!-- #include file="html/footer.html" -->

maxk.asp

<!-- #include file="global.asp" -->

<1-- #include file="html/header2.html" -->

<%

Set rst = Server.CreateObject("ADODB.1'ecordset")

qry="select * from test2 where dars=""&request("dars")&" order by D"

rst.open qry,conn,1,3

Set ixlangan=Server.CreateObject("ADODB.recordset")

qryix="select * from allinfo where userid:"'&request.cookies("uid“)&"‘ and
testid=""&request("tid")&" and correct=3"

ixlangan.open gryix,conn,1,1

if rst.recordcount=ixlangan.recordcount then

response.redirect
"maxk?..asp?tidZmaxk"&request("dars")&"Z&dars‘—“"&request("dars")
end if

tugidi=0
do while tugidi=0
Randomize

QuallD = Int((rst.recordcount * Rnd) + 1)

rst.movefirst
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rst.move sualid-1
msual=rst("sual")
mjawap 1=rst("jawap 1"
mjawap2=rst("jawap2")
mjawap3=rst('jawap3")
mjawap4=rst("jawap4")
mtoghrisi:rst("toghrisi")

mmid=rst("id")

set rst3=Server.CreateObject(“ADODB.recordset")

* from allinfo where userid'-:’"&request.cookies("uid")&"' and

qry3="select
qid="&mmid&" and testid=""&request("tid") &""
rst3.open qry3,conn,1,1
if rst3.recordcount>0 then
if rst3("correct”)>=3 then
tugidi=0
else
tugidi=1
end if
else
tugidi=1
end if
rst3.close

loop

05>
<html>
<head>

<title>New Page 1</title>

</head>
<body>
<table border="0" width="100%">
<tyr>
<td width="56%"> </td>
<td width="87%">
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rstti.open bs2,conn,1,1
%>
<tr>
<td width="100%" colspan="3" align="center">% [} </td>
</tr>
<% do while not rstti.eof %>
<tyr>
<td width="33%" align="center"><img
sre=images/<%=left(rstti("letter"), 1D%>.gif></td>
<td width="33%" align:"cente1‘"><%:rstti("correct")%></td>
<td width="34%" alignZ"center"><%=rstti("hata")%></td>
</tr>
<% rstti.move 1%>
<% loop %>
</table>
<%
response.write "b ) Lo THA? <a hl'ef:kayta.asp?dars:”&request("dars")&"
target=_self>Yes</a> <a href:dars.asp?dars:"&request("dars")&"
target=_self>No</a>"
response.end

end if
tugidi=0

do while tugidi=0
Randomize

SuallD = Int((rst.recordcount * Rnd) + 1)
rst.movefirst

rst.move sualid-1
msual=rst("sual")
mjawap 1=rst("jawap 1"
1njawap2=rst("jawap2")
mjawap3=rst("jawap3")
mjawap4=rst("jawap4")
mtoghrisi=rst("toghrisi")

mmid=rst("id")
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set rst3=Server.CreateObject("ADODB.recordset")
qry3="select *
qid=""&mmid&" and testid=""&request("tid") &""
rst3.open qry3,conn,1,1
if rst3.recordcount>0 then
if rst3("correct”)>=3 then
tugidi=0
else
tugidi=1
end if
else
tugidi=1
end if

rst3.close

loop

%>
<html>
<head>

<title>New Page 1</title>

</head>
<body>
<table border="0" width="100%">
<tr>
<td width="56%"> </td>
<td width="87%">

<p> </p>

from allinfo where userid:”'&request.cookies("uid")&"' and

<p align=center>#H 75 & VT b, £ MM 4 5 L FET EF % S\ </p><p

align="center"><EMBED SRC=sounds/<%=msual%>
AUTOSTART="TRUE" LOOP="False" NAME="firstSound"
width="128" height="128"></embed>%)ﬂj§“€0)5€5}361 En? </lp>
<form method="POST" action="takxurux2.asp">
<p align="center"><input type="radio" value="V1"

sre=images/<%=mjawap 1%>><br>
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HIDDEN=TRUE
MASTERSOUND

name="R1"><img



<input type="radio"
sre=images/<%=mjawap2%>><br>

<input type="radio"
sre=images/<%=mjawap3%>><br>

<input type="radio"

sre=images/<%=mjawap4%>></p>

<p align="center"><input type="submit" value="fif
<input type="hidden" name="sualid" value=<%=mmid %>>

<input type="hidden" name="sual" value='<%=msual%>">

name="R1"

name="R1"

name="R1"

Bl
i

value="V2"><img

value="V3"><img

value="V4"><img

name="B1">

<input type="hidden" name="dars" value=<%=request("dars")%>>

<input type="hidden" name="tid" value=<%=request("tid")%>>

</form>
<p align="center">&nbsp;</td>
<td width="8%">&nbsp;</td>
<[tr>
</table>
<%
rst.close
conn.close
%>
<%
%>

<1-- #include file="html/footer.html" -->

maxk3.asp

<1-- #include file="global.asp" -->

<1-- #include file="html/header2.html" -->

<%
dars=request("dars")
select case dars

case 1

<table bordefi"O" Vrcellpadding:”O" cellspacing="0" style="border-collapse: coliapse

<table border="0" cellpadding="0" cellspacing="0" style="border-collapse: collapse



bordercolor="#111111" width="100%" id="AutoNumber5">
<ty>
<td width="17%"> </td>
<td width="60%">
<table border="1" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumber6">
<tr>
<td width="16%" align="center"><a href=dars.asp?dars=<%=dars%>
target=_self>#il]</a></td>
<td width="16%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=a
target=_self><img sre=images/a.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=i
target=_self><img sre=images/i.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=u
target=_self><img sre=images/u.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=e
binie an i ava—imaoacle oif horder=0></a></td>
target=_self><img sre=images/o.gif border=0></a></td>
</tr>
</table>
</td>
<td width="23%"> </td>
</ty>
</table>
<% case 2
herp="b"
%>
<td width="23%"> </td>
</ty>
</table>
<% case 2
herp="b"
%>
<p> </p>
<p align=center><b>#_F  TH</b></p>
<table border="0" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumber5">
<ty>
<td width="17%"> </td>
<td width="60%">
<table border="1" cellpadding="0" cellspacing="0" style="border-collapse: collapse"



bordercolor="#111111" width="100%" id="AutoNumber6">
<tr>
<td  width="13%" align="center"><a href=dars.asp?dars=<%=dars%>
target=_self>FiH</a></td>
<td width="13%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=b

target=_self><img sre=images/b.gif border=0></a></td>

e e L i mn DA ave—cV=Adarcli>&harnzn
herp_—" "

%>
<p>&nbsp;</p>

<p align=center><b>H—7k HF</b></p>

v Uy svaas P e T 2w

<td width="14%" align="center"><a href=dars. asp"daxs‘“<% da1s%>&ha1p—t

target=_self><img sre=images/t.gif border=0></a></td>

Std width=t14%" aligh="conter'><a pesiEdas Agpadarsssadarsin &harp=]
bmarntm anlfscimo cve=imaong/n oif horder=0></a></td>
bordercolor="#111111" width="100%" id="AutoNumbert">
<tr>
LALBEU—_SOI- g Biy ARGt o dl ~ vmlie e ba ot e Luwnfdana aen?dave=<lh=dara>

<td width="15%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=h
<td width="23%"> </td> : o
</tr>

</table>

<% case 3

herp="d"

%>

<p> </p>

s

<p ahgn—cente1><b>%~n%’ TH</b></p>
<p> " <p> non M A3 addlamanine="0" ctvla="harder-collanse: collapse”
<p align=center><b>% =ik TH</b></p>
<table border="0" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumberb">
<ty>

<td width="17%"> </td>

<td width="60%">

<table border="1" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumber6">

<tr>

<td width="13%" align="center"><a href=dars.asp?dars=<%=dars%>
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target=_self>FiH</a></td>
<td width="13%" align="center"><a href—‘dars.asp?dars=<%:dars%>&harp=d
target=_self><img src=images/d.gif border=0></a></td>
<td width="14%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=r
target=_self><img src=images/r.gif border=0></a></td>
<td width="14%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=z
target=_self><img src=images/z.gif border=0></a></td>
<td width="14%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=s
target=_self><img src=images/s.gif border=0></a></td>
<td width="14%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=x
target=_self><img sre=images/x.gif border=0></a></td>
<td width="15%" align="center"><a href':dars.asp?dars:<%:dars%>&harp:f
target=_self><img sre=images/f.gif border=0></a></td>
</tr>
</table>
</td>
<td width="23%"> </td>
</tr>
</table>
<% case 4
herp="k"
%>
<p> </p>
<p alignzcenter><b>’“"5€mﬁ%&nbsp;&nbsp;iT* & </b></p>
DOFUCICOIVL— 41414t “Wawdal® xw®ht Ittt ctola=thavdaw-rnllange _collanse”
<tr>
<td width="17%"> </td>
<td width="60%">

DOYUEICULUL— #L1ELEL  ¥YIluls s v v’ e 33 0 wan '

v ATl mnant anTlanca!
<tr>
<td width="17%"> </td>
<td width="60%">
<table border="1" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumber6">
<tr>

26 widtHENEe G g -2 BenEirenign.25a . href=dars.asp?dars=<¥%=dars%>

target=_self><img sre=images/k.gif border=0></a></td>
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<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=g
target=_self><img sre=images/g.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=m
target=_self><img sre=images/m.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=n
target=_self><img sre=images/n.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=y
target=_self><img src=images/y.gif border=0></a></td>
<[tr>
</table>
</td>
<td width="23%"> </td>
<[tr>
</table>
<% end select %>
<br>
<% harp=request("harp")%>
<table border="1" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumber4" height="276">
<tr>
<td width="50%" height="276" valign="middle">
<p align="center"><b>7i{ll \Z& % LF v ATEINEIZL > THENTLLZEW
</b></td>
<td width="50%" height="276" valign="top">

FAMEDOIUETI—U VSPALG—U Hopa T rramvad ey o ool o mominrnidbhel mavainheicht=0
<fiframe>
</td>
<ftr>
</table>
<byr>
IFAMEDOIUEL—U VSPALE—U MBPGUL U 1ramves wv > —=- o e ana el
<fiframe>
</td>
<ftr>
</table>
<byr>
<p align=center><a hrenyezilixi,asp?dars=<%Zdars%>&harp=<%=harp%>
target=_self> =2 X JIH </a>&nbsp;&nbsp;&nbsp;&nbsp;<a
href=okuluxi.asp?dars=<%=dars%>&harp=<%%=harp%> target=_self> 5 =1

</a>&nbsp;&nbsp;&nbsp;&nbspi<a
href=amili.asp?dars=<%=dars%>&harp=<%=harp%=> target=_self> % @



T - T wnere USEIIU— WITYUTDU\ Wiu /ww rann
rv3="gelect * {from  aliinio i
testid="imtihan3"

else

qry3="select ~* from  alnio ‘Wirigfe o e (Ta=""0 Myreedu- edid 7n M

testid="imtihan3"

else
qry3="select * from allinfo where userid=""&request("uid")&" and testid="test3"

end if
rst3.open qry3,conn,1,1

set rst3 1:Server.CreateObject("ADODB.recordset")
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set rsth 1:Server.CreateObject("ADODB.recordset")
if request("tid")="imtihan" then
qryb1="select * from allinfo  where userid="&request("uid)&"  and
testid='imtihan5' and correct=1"
else
qryb51="select * from allinfo where userid="&request("uid")&" and testid='testd’
and correct=1"

end if
rsth1l.open qrybl,conn,1,1

jamisued:rst1.1‘ecordcount+rst2.1'ecordcount+rst3.recordcount+rst4.recordcount—l—rst5.re
cordcount
%>
<% if request("tid")<>"imtihan" then %>
<p align=center><font size=3><b>il F</b></font></p>
<table border="1" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumberl">
<tr>
<td width="25%">
<p align="center">[l#</td>
<td width="25%">
<p align="center">IEfff</td>
<td width="25%">
<p align="center">A 1L fff</td>
<td width="25%">
<p align="center">#i R </td>
</tr>
<tr>
<td width="25%" align="center">%5—[H]</td>
<td width="25%" align:"center"><%=rst1l‘recordcount%></td>
<td width="25%" align="center"><%=rst1.recordcount-rst 11.recordcount%></td>
<td width="25%" align="center"><% if jamisual<>0
then%><%=rst11.recordcount™ 100/jamisual%><%end if%></td>
</tr>

<tr>
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<td width="25%" align="center">5__[i</td>
<td width="25%" align:"center"><%:rst21.rec0rdcount%></td>
<td width="25%" align———"center"><%:rstZ.recordcount-rstZ1.1’ecordcount%></td>
<td width="25%" align="center"><% if jamisual<>0
then%><%=rst21.recordcount*100/jamisual%><%end if%></td>
</tr>
<tr>
<td width="25%" align="center">5 —[H</td>
<td width="25%" align:"center"><%=rst31.1‘ecordcount%></td>
<td width="25%" align:"center”><%=rst3.recordcount-rsti%1.1‘ecordcount%></td>
<td width="25%" align="center"><% if jamisual<>0
then%><%=rst31.recordcount*100/jamisual%><%end if%></td>
</tr>
<tr>
<td width="25%" align="center">& /[ </td>
<td width="25%" align:"center"><%:rst41.recordcount%></’cd>
<td width="25%" align:”center"><%=rst4.recordcount-rst41‘1‘ec0rdcount%></td>
<td width="25%" align="center"><% if jamisual<>0
then%><%=rst41.recordcount*100/jamisual%><%end if%></td>
</tr>
<tr>
<td width="25%" align="center">5 71.[H</td>
<td width="25%" align:"center"><%:rst51.recordcount%></td>
<td width="25%" align="center"><%=rstb.recordcount-rstd 1.recordcount%></td>
<td width="25%" align="center"><% if jamisual<>0

L1 o0/ e 0/ ek BT wmnnvdamint* TONHamicnal%><%end if%></td>

then%><%=rst11.recordcount*100/jamisual+rstZ l.recordcount” 1UU/JaMISUALTTSLS L. IEC

....... Amnaxan

RPNkl

then%><%=rst11.recordcount*100/jamisual-rst2 1.recoricotnt 10U mIsdA s riee
ordcount®100/jamisual+rst41.recordcount™100/j amisual+rst51.recordcount® 100/ amisu
al%><%end if%></b>

<%

if jamisual<>0 then

if

rst11.recordcount*100/jamisual+rst21.recordcount™ 100/ jamisual+rst31.recordcount®10
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sre=images/<%=rst2("letter")%>.gif></td>
<td width="33%" valign="middle" align="center"><% if  rst2("correct")=0

then %><% response.write "X" %><% else %><% response.write "O" %><% end
if %></td>

<ftr>
<%
end if
loop
rst3.movefirst
%>

<tr>

<td width="100%" colspan="3" valign="middle" align="center">2 = [H]</td>

<[tr>

<tr>
2] wiath="33=" R0 ey ligpmmiddlel _align="center"><img
e ot~ inemepen it X Uz IS pesponse-wiite 1O %><% end
Tty e countue> S . H=<vh rosponse write 101 %><% end

</tr>
<% do while not rst3.eof
rst3.move 1
if not rst3.eof then
%>
<tr>
TV M Yaasas save s Ao 3o HOOGR o —em T a2 A AT AN alion="canter"><imeg
rst3.move 1
if not rst3.eof then
%>
<tr>
<td width="33%" valign="middle" align="center"><img
src::images/<%=left(rst3("letter”), 1)%>.gif></td>
<td width="33%" valign="middle" align="center"><% if rst3("correct™)=0

oL AL § 11900 & ex s s mmet i s WY 0/o0L Alan. 04me0%  voaenanee write "0" %><% end
ount*100/jamisual%> target=_self>Yes</a> <a
wup ; - ’ o e "‘”“‘1"“"““*1nn“nm4onal+vefﬂ_‘m0rdm*_]mﬁ_alni—
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rst4.movefirst
%>
<ty>
<td width="100%" colspan="3" valign="middle" align="center">f U </td>
<ftr>

<tr>

: —" o/ 3 p— 1 } 3 1 . o | | Rij x
4d wiaon="58P="R%Lu— wadalisnzimiddlel . . align='center’><img

Caiuvw o

t+h 0/ > <, ey < »y wyn o 0, 0, 0, a7 Oy o, 0,
o Ui g i, XL Uz, elsg, %> <% response.write "0 %><% end

allgll"_‘ RS IULVAVE Loy

then %><% response.write "X" %><% else %><% response.write "O" %><% end
if %></td>
<td width="34%" valign="middle" align="center"
rowsp an="<%=rst4.recordcount%>"><%=rst41.recordcount®100/] amisual%></td>
</tr>

<% dg while not rstd.eof
td WIdtn—-oo07o VALLEILT MLLWSTS

sre=images/<%=rst4("letter")%>.gif></td>
<td width="33%" valign="middle" align="center"><% if  rstd("correct”)=0
Qe w M sreravznooreiba "YU 045<04 alee %><% response.write "O" %><% end
rst2.move 1
if not rst2.eof then
%>
<{yr>
TNEN 7070 IESPULISEIWIIRE " s sur ~sv wldeollaiddlall o alion="ranter"><imeo
if %></td>
</tr>
<%
end if
loop
rst5.movefirst
%>
<tr>
<td width="100%" colspan="3" valign="middle" align="center"> fi. M </td>
</tr>
<tr>
<td width="33%" valign="middle" align="center"><img

sre=images/<%=rst5("letter")%>></td>
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<p align=center><b># _Fk T-H</b></p>
<table border="0" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumber5">
<ty>
<td width="17%"> </td>
<td width="60%">
<table border="1" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumber6">
<tr>
<td  width="13%" align="center"><a href=dars.asp?dars=<%=dars%>
target=_self>#il]</a></td>
<td width="13%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=b

target=_self><img src=images/b.gif border=0></a></td>

CLALRO VDTS SLLE Wiy Laaka g poegdee i —am - 1 VR | Y » T SURUIRUNNPY | y St [PNEON () Lo harn—n

<td width="14%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=t

LALBEL™_DTIL7 SLULE ©LU  Liiapg Vs preapss ~wsonr s
<td width="14%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=t

target—_self><img src=images/t.gif border=0></a></td>

<td width="14%" ahgn‘"cenfel >Z8 nyréi=dars.dspr

Lo endio In aif harder=N></a></td>
<td w1dth—"14%" ahgn- ‘center ><a RreT=dATs: asp 7AarsS=<70—UdArs70- G Iarp—y

target=_self><img src=images/q.gif border=0></a></td>
<td width="15%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=h

target=_self><img src=images/h.gif border=0></a></td>

</tr>
</table>
</td>
<td width="23%"> </td>
</tr>
</table>
<% case 3
herp="d"
%>
<p> </p>
<p align=center><b>#H = FH</b></p>
LBV Buas? aaB e Weand I oA Tl O atwla=hardar-cnllansel eollanse”
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=m
DULUGLUVIVL — 17 4L dhas  ramves avwt? ot o As ] < oL
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<table border="1" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumber6">
<tr>

<td  width="16%" align="center"><a href=dars.asp?dars=<%=dars%>
target=_self>F W </a></td>

<td width="16%" align="center"><a hredears.asp?dars:<%=dars%>&harp:k
target=_self><img sre=images/k.gif border=0></a></td>

<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=g

tovmnt— ealf><imeo are=imases/o gif border=0></a></td>

target=_self><1mg src=images/m.git border=u></a>=/uu-~

PRI, | N FRRSRIE ¥ Val) P TP | I TN | a haw — 2 — 0/ — i) e
target=_self><img src=images/m.git pivaere heaf=daps  antdars=<% dars%>&harp=n

<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=n
target=_self><img sre=images/n.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=y
target=_self><img sre=images/y.gif border=0></a></td>
</tr>
</table>
</td>
<td width="23%"> </td>
<ftr>
</table>
<% end select %>
<br>
<% harp=request("harp")

L asan oS flhan 04

bordercolor="#111111" width="100%" id="AutoNumber4" height="276">

<ty>

= R IR AT | LI PRI Vo ¥ Nt | UG, R | MR % | PN
bordercolor="#111111" width="100%" id="AutoNumber4™ height="276
<ty>
target:;seHgéin{éﬂs"fc!iniaéé'é/ 'z(?é’ﬁ"b'()iﬁé U<

ST Twer —nadasn et aat e hwafzdave aan?darve=<%=dars%>&harp=s
<p  align="left"><EMBED SR(C=sounds/<%=harp%>.wav “THIDD R

D
<p  align="left"><EMBED TORC=sounde/ST=harp%swav  AIDDEREIRY
AUTOSTART="TRUE" LOOP="False" NAME="firstSound" MASTERSOUND
width="128" height="128"></embed><b>&nbsp;<img sre=images/<%=harp%>.gif> &
<%=harp%> & Ftir..</b></td>
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<[tr>

</table>

<br>

<p align=center><a href—‘—yezilixi.asp?dars=<%:dars%>&harp=<%=harp %>
target=_self> & & JE </a>&nbsp;&nbsp; <a
hrefzokuluxi.asp?dars=<%=dars%>&harp:<%:harp %> target=_self> %8 w
</a>&nbsp;&nbsp; <a href:amili.asp?dars=<%:dars%>&harp:<%:harp %>
target=_self> % £ </a> &nbsp;&nbsp; <a

href=maxk.asp?tid=maxk<%=dars%> 1&dars=<%=dars%> target=_blank>#{# </a></p>
<% end if %>

<!1-- #include file="html/footer.html" -->

omumimaxk.asp

<!-- #finclude file="global.asp" -->

<I-- #include file="html/header2.html" -->
<%

if request("sid")="" then

s1d=0

else

sid=request("sid")

end if

Set rst = Server.CreateObject("ADODB.recordset“)
qry="select * from letters order by ID"

rst.open qry,conn,1,1
tugidi=0

do while tugidi=0
rst.movefirst
rst.move sid
if rst.eof then
tugidi=1
else
set rst3=Server.CreateObject("ADODB.recordset")
qry3="select * from allinfo where useridZ'"&request.cookies("uid")&"' and

qid:"‘&rst("id")&"' and testid='omumimaxk' and correct=1"
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rst3.open qry3,conn,1,1

if rst3.eof then
tugidi=1

else

asid=sid+

AL P WU DY PO T T IEAMAANTRRT T aa s e T

<1nput type="hidden" name="sid" value=<%=s1d %>>

ML ATt =g a b AN sraliia=< 0= Qf("ld")‘%>>
<table bmder‘"l" cellpaddmg ="Q" cellspacing="0" style="border-collapse: collapse"

bordercolor="#111111" width="100%" id="AutoNumber4" height="276">
<tr>
<td width="50%" height="276" valign="middle">
<p align="center"><b>%:7", AN H L EE vy ATESIEICL - TENTLES
v KIS, TORBEICE 2 CTLIE S v<b></td>
<td width="50%" height="276" valign="' ‘middle">
<p align:"center"><b>&nbsp;<iframe are="<%=rst("letter")%>.html" scrolling="no"
marginwidth=0 marginheight=0 frameborder=0 vspace=0 hspace=0 width=300
height=300>
</iframe>
</td>
</tr>
</table>
<br>
<p align=center><b>LL T O IZ<img sre=images/<%=rst("letter")%>.gif> ek I
TAHALFIEEN? </p>
<%
Randomize
orni = Int((4 * Rnd) + 1)
if orni=1 then
jawap 1=rst("letter")
jawap2=jtallax(rst("letter"))
jawap3=jtallax(rst("letter"))
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response.write " 9 — X > TH F 477 <a href=okayta.asp target=_self>Yes</a>
<a href=dars.asp?dars=1 target=_self>No</a>"

response.end
%>
<% end if %>

<1-- #include file="html/footer.html" -->

signup.asp
<1-- #include file="html/header.html" -->
<p>&nbsp;</p>
<p>&nbsp;</p>
<p>&nbsp;</p>
<p align=center><b>%§x</b></p>
<form method="POST" action="signup2.asp" name="form1">
<table border="0" width="100%" cellspacing="0" cellpadding="0">
<tr>
<td width="50%">
<p align="right">%#HIAJ) </td>
<td width="50%"><input type="text" name="username" size="20"></td>
</tr>
<tr>
<td width="50%">
<p align="right">/¥ A7 — FAJ] </td>
<td width="50%"><input type="password" name="password" size="20"></td>
<[ty>
<tr>
<td width="50%">
<p align="right">/¥A 7 — FEHERE </td>
<td width="50%"><input type="password" name="password2" size="20"></td>
</tr>
</table>
<p align="center"><input type="submit" value="3%/2" name="submit"></p>
</form>

<!1-- #include file="html/footer.html" -->
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gignup?2.asp
<1-- #include file="global.asp" -->
<1-- #include file="htmlheader.html" -->
<p>&nbsp;</p>
<%
uname=request.form("username")
pass lzrequest.form("password")
passQ:request.form("passwordZ")
Set rs=Server.CreateObject("Adodb.RecordSet“)
rs.Open "Select * From user where username=""&uname&"",conn,1,3
if not rs.eof then
response.write "<p>&nbsp;</p><p>&nbsp;</p><p>&nbsp;</p><p align=center> Z 11
3D BB N BT MO AHE AN T2 </p>"
response.write "<p align=center><a href='Javascript: onClick= history.go(- 1)'>Fij DX
— Un<la></p>"
else
if pass1<>pass2 then
response.write "<p>&nbsp;</p><p>&nbsp;</p><p>&nbsp;</p><p align=center>/"
27— Fid—H LTy, [[|LENAT - Fa AT L TL7ZEn</p>"
response.write "<p align=center><a href='Javascript: onClick=history.go(- 1)'>Hij ?
R—J<fa></p>"
else
rs.addnew
rs("username")=uname
rs("password")=pass1
rs("status")="No"
rs("signupdate")=date(
rs.update
response.write "<p>&nbsp;</p><p>&nbsp§</p><p>&nbsp;</p><p align=center>%
SRR TY | <fp>"
response.write "<p align=center>Z = % 71) v 7 L TC<a href=login.asp>#H 12 A%
<[a>"
end if
end if
rs.close

conn.close
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rst.open qry,conn,1,3

e e At M\ bt (i b H(waamiact farm (TR, 1» then

rst.open qry,conn,1,3

Lﬁbpuuae‘\(f'frw‘“ < gkpipvight(panuest form ("R1"M.1) then. _
T

rst2.open qry2,conn,1,3

if rst2.eof then

vaﬁsné\zd’vﬂv 0 U T L

T
rst2.open qry2,conn,1,3
if rst2.eof then
rst2.addnew
rst2(tuserid")=uid
rst2("qid")=sualid
rst2("testid")=tid
rst2("letter")=sual
rstZ("toghrisi"):rst(“jawap"&trim(rst("toghrisi")))

rerd("enerent =gt eorreet 1o
qid="&sualid&" and testid=""&tid &""

end if

else

response.write "<p>&nbsp; </p><p>&nbsp;</p><p>&nbsp;</p><p align=center>[H] &
R . mo O bntoalwet (M anhriciMN &S

rst2("correct”)=rst2("correct")+1
rst2.update
else
F L7z 1 EEEE <umg sre=lmdges/ &ersiy Jaw-a,{,rmr.rﬁm.om‘mfugnmfp)‘)ﬂ;"fXrniﬂRr."' and
rst2.open qry2,conn,1,3
if rst2.eof then
rst2.addnew
rst2("userid")=uid
rst2("qid")=sualid
rst2("testid")=tid
rst2("letter")=sual
rst2("toghrisi")ert("jawap"&trim(rst("toghrisi")))
vt ("hataM=rst2("hata")+1



end if
response.write "<a href=maxk2.asp?tid="&tid&"&dars="&dars&"> fore < </a>"
%>

<!-- #include file="html/footer.html" -->

tarihi.asp
<!-- #include file="global.asp" -->
<1-- #finclude file="html/header2.html" -->
<%
uid=request("id")
if uid="" then
if request.cookies("uid")<>"" then
uid:request.cookies("uid")
end if
end if
if uid<>"" then
Qet £2 = Server.CreateObject("ADODB.recordset")
q2="select * from user where 1d="&uid
t2.open q2,conn,1,1
%>
<p> </p><p align:center><b><%=t2("username")%>0)5’%%‘<</b></p>
<table border="1" width="100%">
<tr>
<td width="100%" colspan="2" align:"center"><%:t2("username")%></td>
</tr>
<tr>
<td width="50%" align="center">[0l 4 </td>
<td width="50%" align="center">S#E</td>
<[ty>
<%
Qet t1 = Server.CreateObject("ADODB.recordset")
ql="select * from tarihi where userid=""&uid &""

t1.open ql,conn,1,1

if not t1.eof then
i=1
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t1.movefirst
do while not t1.eof
%>
<ty>
<td width="50%" align="center"><%=1%> | H </td>
<td width="50%" align="center"><%=t1("nomuri")%></td>
</tr>
<%
=i+l
tl.move 1
loop
end if
%>
</table>
<% end if %>
<br><hr color="#FF9933">
<br><p align=center><b>%H & </b></p>
<%
Set trst = Server.CreateObject("ADODB.recordset")
tqry="select * from user order by 1ID"

trst.open tqry,conn,1,1

n=1
trst.movefirst
do while not trst.eof

"

response.write

href=tarihi.asp ?id:"&trst("id")&">"&trst("username")&"</a><br>"

n=n+1
trst.move 1

loop

%>

<1-- #include file="html/footer.html" -->

test.asp

<!-- #include file="global.asp" -->






do while tugidi=0
Randomize
SuallD = Int((est.recordecount * Rnd) + 1)

rst.movefirst

ILLJOAYT A msem gt o

mjawap3=rst("jawap3")
mjawap4=rst("jawap4")
mtoghpisizestitoehyisi’) .

<% else %>

<!-- #include file="html/header.html" -->

<% end if %>

anB e g e — = mm = = e

mmid=rst("id")

set rst3=Server.CreateObject("ADODB.recordset")

*  from allinfo where userid:"'&request.cookies("uid")&"’ and

qry3="select
qid="&mmid&" and testid="&request("tid") &""
rst3.open qry3,conn,1,1
if rst3.eof then

tugidi=1
else

tugidi=0
end if

rst3.close

loop

05>
<html>
<head>

<title>New Page 1</title>

</head>
<body>
<table border="0" width="100%">
<tr>
<td width="5%"> </td>
<td width="87%">

59



<p>&nbsp;</p>
<p align=center> &5 — [ [H 2 A1 X T HE R ED 2 S\ <p><p
align="center"><%=msual%></p>
<form method="POST" action="confirm.asp">
<p align="center"><input type="radio" value="V1"
name="R1"><%=mjawap1%><br>
<vp else v termnetnadia! name="R1" value="V2"><%=miawap2%><br>

<1-- #include file="html/header.html" -->

<% end if %>

<%
<input type="radio" QA OTND rATRERt Ve < vo—tyawap e~ p-
<p align="center"><input type="submit" value="Hf 32" name="B1">
<input type="hidden" name="sualid" value=<%=mmid%>>
<input type="hidden" name="sual" value='<%=msual%>">
<input type="hidden" name="sid" value=<%=sid%>>
<input type="hidden" name="uid" Value:<%:request.cookies("uid”)%>>
<input type="hidden" name="tid" value=<%=request("tid")%>>
</form>
<p align="center">&nbsp;</td>
<td width="8%">&nbsp;</td>
</tr>
</table>
<%
rst.close

conn.close

%>

<%

if request("tid")<>"imtihan" then

if request.cookies("dtime")="" then

s vassae v Al Dy M1 M 9N EieaaM)
response.redirect "natija.asp?uid="&request.cookies("uid")&"&SZtimeup"

end if

response.redirect "natija.asp?uid="&request.cookies("uid")&"&SZtimeup"
end if
end if
end if
%>

<!1-- #include file="html/footer.html" -->

eYal



test2.asp

<!-- #include file="global.asp" -->

<% if request("tid")="imtihan2" then %>

<1-- #include file="html/header.html" -->

<% else %>

<!-- #include file="html/header.html" -->

<% end if %>

<%

Set rst = Server.CreateObject("ADODB.recordset")
qry="select * from test2 order by D"

rst.open qry,conn,1,3

if request("sid")="" then
s1d=0

else
sid=request("sid")

end if

Set tugax = Server.CreateObject("ADODB.recordset")
if request("tid")="imtihan2" then

* from allinfo where userid=""&request.cookies("uid")&"

qryt="select
testid="imtihan2"
else

* from allinfo where userid:”'&request.cookies("uid")&"'

qryt="select
testid="test2"
end if

tugax.open gryt,conn,1,1

if rst.recordcount<=tugax.recordcount then
if request("tid")="imtihan2" then
response.redirect ”test3.asp?uid:"&request("uid")&”&tid:imtihanS"
else
response.redirect “tes’c3.asp?uid:"&request("uid")&"&tid=test3"
end if
end if
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tugidi=0

do while tugidi=0
Randomize

SuallD = Int((rst.recordcount * Rnd) + 1)
rst.movefirst

rst.move sualid-1
msual=rst("sual")
mjawap 1=rst("jawap1")
mjawapZert("jawapZ")
mjawap3=rst("jawap3")
mjawap4=rst("jawap4")
mtoghrisi=rst("toghrisi")

mmid=rst("id")

set rst3=Serve1'.CreateObject("ADODB.recordset")
qry3="select * from allinfo where userid="&request("uid")&"" and qid="&mmid&" and
testid=""&request("tid")&""
rst3.open qry3,conn,1,1
if rst3.eof then
tugidi=1
else
tugidi=0
end if

rst3.close

loop

%>
<htmi>
<head>

<title>New Page 1</title>

</head>
<body>
<table border="0" width="100%">

<ty>
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<td width="6%"> </td>
<td width="87%">
<p>&nbsp;</p>

<p align=center> 7 . [l

align="center">JE & & <%=msual%> DOLFIEENT? </p>

<form method="POST" action="confirm2.asp">

<input type="radio"
src=images/<%=mjawap2%>><br>
<input type-‘—"radio“
src=images/<%=mjawap2%>><br>
<input type="radio"
sre=images/<%=mjawap3%>><br>

<input type="radio"

sre=images/<%=mjawap4%>></p>

name="R1"
name="R1"
name="R1"
name="R1"

HYT7T1n

%é‘%n‘:’}fﬁﬂ‘ﬁ_éiﬁ’l%ii%(f&é’\\/\</p><p

valiue="V2"3<img

value="V3"><img

value="V4"><img

<p align="center"><input type="submit" value="f#2" name="B1">

<input type="hidden" name=

<input type="hidden" name="sual" value='<%=msual%>">

<input type="hidden" name="sid" value=<%=s1d%>>

sualid" value=<%=mmid%>>

<input type="hidden" name="uid" value=<%=request("uid")%>>

<ta wigtn="ovo ~8ndsprY e~

</tr>
</table>
<%
rst.close

conn.close

0L~ _
<t WIATA= 070 ~ ISP~ vu-

</tr>
</table>
<%
rst.close
conn.close
%>
<%
if request("tid")<>"imtihan2" then

if request.cookies("dtime")="" then

response.cookies(”dtime"):dateadd(”n", 30, time()

response.write request.cookies("dtime")

else

if timeO>=cdate(request.cookies("dtime")) then

A walua—cVi=vanuoat("tid "M% >>



response.redirect "natija.asp?uid:”&request("uid")&"&sztimeup"

end if
end if
end if
%>
<1-- #include file="html/footer.html" -->
test3.asp
<!-- #include file="global.asp" -->

07 Il e kL2 AN bl A n AN

width="128" he1ght“"128“></embed> ;‘ﬁfﬁ TONTAL &I TP~
< miciurae meth pdmRRETC Astiop="confirm3.asp™> ..

<% end if %>

<%

Set rst = Server.CreateObject("ADODB.recordset")

qry="select * from test3 order by ID"

rst.open qry,conn,1,3

if request("sid")="" then
s1d=0
else
sid=request("sid")
end if

Set tugax = Server.CreateObject("ADODB.1'ecordset")

if request("tid")="imtihan3" then
qryt="select * from allinfo where

testid="imtihan3"

else

* from allinfo where

qryt="select
testid="test3"
end if

tugax.open qryt,conn,1,1

if rst.recordcount<=tugax.recordcount then

if request("tid")="imtihan3" then
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userid=""&request.cookies("uid") &"

userid=""&request.cookies("uid") &""

and

and









%>

<%

if request("tid")<>"imtihan3" then

if request.cookies("dtime")="" then
response.cookies("dtime")=dateadd("n", 30, time()
response.write request.cookies("dtime")

else
if tirneO>=cdate(request.cookies("dtime”)) then

response.redirect "natija.asp?uidr"&request("uid")&"&SZtimeup"

end if

end if

end if

%>

<1-- #tinclude file="html/footer.html" -->

testd.asp

<!-- #include file="global.asp" -->

<% if request("tid")="imtihan4" then %>

<1-- #include file="html/header2.html" -->

<% else %>

<1-- #include file="html/header.html" -->

<% end if %>

<%

Set rst = Server.CreateObject("ADODB.recordset")

qry="select * from test4 order by ID"

rst.open qry,conn,1,3

if request("sid")="" then
sid=0
else
sid=request("sid")
end if

Set tugax = Server.CreateObject(”ADODB.recordset”)
if request("tid")="imtihan4" then
qryt="select * from allinfo where userid:'"&request.cookies("uid")&"' and

testid='imtihan4"
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else

qryt="select * from allinfo where userid="&request.cookies("uid")&" and
testid="test4"™
end if

tugax.open qryt,conn,1,1

if rst.recordcount<=tugax.recordcount then
if request("tid")="imtihan4" then
response.redirect "test5.asp?uid="&request("uid")&"&tid———imtihanS"
else
response.redirect "test5.asp?uidZ"&request("uid")&"&tid:test5”
end if
end if

tugidi=0

do while tugidi=0
Randomize

SuallD = Int((rst.recordcount * Rnd) + 1)
rst.movefirst

rst.move sualid-1
msual=rst("sual")
mjawap 1=rst("jawap1")
mjawap2=rst("jawap2")
mjawap3=rst("jawap3")
mjawap4=rst('jawap4")
mtoghrisi:rst("toghrisi")

mmid=rst("id")

set 1’st3=Server.CreateObject("ADODB.recordset")
qry3="select * from allinfo where userid="&request("uid")&" and qid=""&mmid&" and
testid=""&request("tid")&""
rst3.open qry3,conn,1,1
if rst3.eof then
tugidi=1

else
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<td width="60%">
<table border="1" cellpadding="0" cellspacing="0" style="border-collapse: collapse”
bordercolor="#111111" width="100%" id="AutoNumber6">
<ty>
<td  width="16%" align="center"><a href=dars.asp?dars=<%=dars%>
target=_self>FiH</a></td>
<td width="16%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=a
target=_self><img src=images/a.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=1
el e n M i rwarrian naagfi o f hovdav=N><a></td>

target=_self><img sre=images/u.gif border=0></a></td>

COR e ideds MAEBIN XM dod on lmnfednnn amonPdave=cli=dave¥>&harn=e
target=_self><img sre=images/u.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=e
target=_self><img sre=images/e.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=o
target=_self><img src=images/o.gif border=0></a></td>
</tr>

</table>

</td>

<td width="23%"> </td>

<[/tr>
</table>
<% case 2
herp="b"
%>
<p> </p>
<p align=center><b># _fk F-FH</b></p>
<table border="0" cellpadding="0" cellspacing="0" style="border-collapse: collapse"
bordercolor="#111111" width="100%" id="AutoNumber5">
<tr>

<td width="17%"> </td>

<td width="60%">

<table border="1" cellpadding="0" cellspacing="0" style="border-collapse: collapse”
bordercolor="#111111" width="100%" id="AutoNumber6">

<{r>

<td  width="13%" align="center"><a href=dars.asp?dars=<%=dars%>
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target=_self><img src=images/m.gif border=0></a></td>
<td width="17%" align="center"><a href=dars.asp?dars=<%=dars%>&harp=n

target=_self><img src=images/n.gif border=0></a></td>

e T LT M1 VM mandaat~ea hoaf—Adare acn?dare=<%=dars¥%>&harn=v
loop
%>
</table>
<%
case "test"

rs.movefirst

%>
</tr> S e

</table>
</td>
<td width="23%"> </td>
</tr>
</table>
<% end select %>
<br>
<% harp=request("harp")%>
<table border="1" cellpadding="0" cellspacing="0" style="border-collapse: collapse”
bordercolor="#111111" width="100%" id="AutoNumber4" height="276">
<ty>
<td width="50%" height="276" valign="middle">
<p align="center"><img src=images/qong<%=harp%>.gif></td>
<td width="50%" height="276" valign="middle">
<p align="center"><b>% Zfi</b></p>
<p align="center"><b>&nbsp;<img sre=donghua/<%=harp%>.gif></b></p>
<p align="right"><a href=maxk3.asp?harp=<%=harp%>&dars=<%=dars%>

target=_self>F\ 2 TH L </a>

</td>
</tr>

</table>

<br>

<p align=center><a href:yezilixi.asp?dars:<%:dars%>&harp:<%Zharp %>
target=_self> & & e </a>&nbsp;&nbsp; <a
href=okuluxi.asp?dars=<%=dars%>&harp=<%=harp%> target—=_self> %6 =
</a>&nbsp;&nbsp; <a href=amili.asp?dars=<%=dars%>&harp=<%=harp%>
target=_self> gz @l </a>&nbsp;&nbsp; <a

href=maxk.asp?tid=maxk<%=dars%>1&dars=<%=dars%> target=_blank>#i¥ </a></p>

<!-- #include file="html/footer.html" -->












<td width="11%" align:"center">&nbsp;<%=1's("famila")%></td>
<td width="11%" align="center">&nbsp;<%=rs("kizikix")%></td>
<td width="11%" alignZ"center">&anp;<%:rs("salmak")%></td>
<td width="11%" align:"center">&nbsp;<%=rs("asan")%></td>
<td width="11%" alignZ"center">&nbsp;<%:rs("ozgartix")%></td>
<td width="11%" align:"center">&nbsp;<%:rs("yahxiyaman")%></td>
<td width="12%" align:"center">&nbsp;<%:rs("pikir")%></td>
</tr>

<%

n=n+1

rs.move 1

loop

%>

</table>

<%

end select

%>

koxux.asp

<!-- #include file="global.asp" -->

<%
if request.form("submit")<>"" then

Set rs = Server.CreateObject("ADODB.recordset")
sql="select * from "&request.form("nixan")&" order by ID"

rs.open sql,conn,1,3

if request.form("sual")<>"" and request.form("jawap1")<>"" and
request.form("jawap2")<>"" and request form("jawap3")<>" and
request.form("jawap4")<>"" and request.form("toghrisi")<>"" then

rs.addnew

rs("sual")=request.form("sual")

rs("jawap 1")=request.form("jawap1")

rs("jawap2")=request.form("jawap2")

rs("jawap3")=request.form("jawap3")

rs("j awap4"):request.f0rm("j awap4")
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rs("toghrisi"):request.form("toghrisi")
rs("dars")=request.form("dars")
rs.update
rs.close
response.redirect("baxkurux.asp?nixan:”&request.form("nixan"))
else
response.redirect("baxkurux.asp?nixanZ"&request.form("nixan"))
end if
else
%>
<p> </p><p align=center><b>[l# & E T 5 </b></p>
<form method="POST" action="koxux.asp">
<table border="1" width="100%">
<tr>
<td width="35%" align="right">[i]#</td>
<td width="65%"><textarea rows="3" name="sual" cols="43"></textarea></td>
<[tr>
<tr>
<td width="35%" align="right">[1% 1</td>
<td width="65%"><input type="text" name="jawap1l" size="45"></td>
</tr>
<tr>
<td width="35%" align="right">[R% 2</td>
<td width="65%"><input type="text" name="jawap2" size="45"></td>
</tr>
<tr>
<td width="35%" align="right">[u% 3</td>
<td width="65%"><input type="text" name="jawap3" size="45"></td>
</tr>
<tr>
<td width="35%" align="right">[H% 4</td>
<td width="65%"><input type="text" name="jawap4" size="45"></td>
</tr>
<tr>
<td width="35%" align="right">1E#</td>

<td width="65%"><input type="text" name="toghrisi" size="20"></td>
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<[tr>
<tr>
<td width="35%" align="right">l v A  </td>
<td width="65%"><input type="text" name="dars" size="20"></td>

<[tr>

</table>
<input type="hidden" name="nixan" value="<%=request("nixan")%>">
<p align="center"><input type="submit" value=" EN |
" name="submit"></p>
</form>
<%
end if
%>
ozgartix.asp
<!-- #include file="global.asp" -->

<%
if request.form("submit")<>"" then

Set rs = Server.CreateObject("ADODB.recordset")
sql="select * from "&request.form("nixan")&" where id="&request.form("id")&""

rs.open sql,conn,1,2

if request.form("sual")<>"" and request.form("jawap1")<>"" and
request.form("jawap2")<>"" and request.form("jawap3")<>"" and
request.form("jawap4")<>"" and request.form("toghrisi")<>"" then

rs("sual”)=request.form("sual")

rs("jawap 1")=request.form("jawap1")

rs("jawap 2" =request.form("jawap2")

rs(jawap3")=request.form("jawap 3"

rs("jawap4")=request.form("jawap4")

rs("toghrisi"):request.form("toghrisi")

rs("dars")=request.form("dars")

rs.update

rs.close
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response.redirect("baxkurux.asp?nixan:”&request.form("nixan"))
else
response.redirect("baxkurux.asp?nixanZ"&request.form("nixan"))
end if
else
Set rs = Server.CreateObject("ADODB.recordset")
sql="select * from "&request('nixan")&" where id="&request("id")
rs.open sql,conn,1,1
%>
<p> </p><p align=center><b>[liji#l & ZH § 5 </b></p>
<form method="POST" action="ozgartix.asp">

<table border="1" width="100%">

<ty>
<td width="35%" align="right">f]#H</td>
<td width="65%"><textarea rows="3" name="sual"

cols="43"><%=rs("sual"%></textarea></td>

</tr>
<tr>
<td width="35%" align="right">[A]%" 1</td>
<td width="65%"><input type="text" name="jawap1" size="45"
value=<%=rs("jawap 1")%>></td>
</tr>
<tr>
<td width="35%" align="right">[A1% 2</td>
<td width="65%"><input type="text" name="jawap2" size="45"
value=<%=rs("jawap2")%>></td>
</tr>
<tr>
<td width="35%" align="right">[A% 3</td>
<td width="65%"><input type="text" name="jawap3" size="45"

value=<%=rs("jawap3")%>></td>

<ftr>
<tr>
<td width="35%" align="right">[H] % 4</td>
<td width="65%"><input type="text" name="jawap4" size="45"

value=<%=rs("jawap4")%>></td>
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</tr>

<tr>
<td width="35%" align="right">IF f</td>
<td width="65%"><input type="text" name="toghris1"
value=<%=rs("toghrisi")%>></td>
</tr>
<tr>
<td width="35%" align="right">1" v A » </td>
<td width="65%"><input type="text" name="dars"
value=<%=rs("dars")%>></td>
<ftr>
</table>

<input type="hidden" name="nixan" value="<%=request("nixan")%>">
<input type="hidden" name="id" value="<%=request("id")%>">
<p align="center"><input type="submit" value="

" name="submit"></p>

</form>

<%

rs.close

end if

%>
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